SF0 TS i = X 15
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
& 'R 2 S 4 MBI P 0D £ D o DX - —i 12 - —
ERLEASR D Hitl 30 | 1.1 —fr 200t 3.6l 3.6
iRl - 2TH o AR B P o A M R el oo 12f | —
RELIS O 30 | L1 15f 208t 3. 64 3.6
biy7) EiE 15 6%H0 40 | L[ 23 28F 8.1 —
LA o Hitg 40 | L1|d 23 26# 8. Tﬂ 8.1
FR1~5TH [eEeiR (s 50 | 1.1 [T b T bh T b M b
AT AR X g
1 IR P o B K3 el 1ypn 15 | —
2 LSO K 40 | L 1| 164 25ﬁ 8. O 8. 0
F#HR6TH b E IRk 50 1.1 ﬁﬁtti’érn?ttfémtti%r;itt’&
A AR K
1 REERE MG o 2 DO —t L 18— —
2 hREELLS o> Mgk 40 | L1|F 16fF 258 8. Ot 8.0
FR7TH Ece 40 | 1.1 —|  —#l 8.0fE 8.0
FRKEL - 2TH |[HaEMLXE 50 | 1.1 ﬂithzﬁrrﬁtti‘ér;ibti’ﬁﬁtti%
T LA X
1 #5in 40 | 1.1 —H 1546 8. Ol 8. 0
2 REIRBUHIRP o B A —W 1upE 15 — —
3 _LERCEA DR 40 | L1 16 2580 8.0Fﬁ 8.0
FRRML - 2TH (ML 50 | 1.1 |77 bl HEmT bl bl M b
A AR Xk
1 BEHRB I A o0 B A K5 —fd 1l 15 — —
2 LERLIS o s 40 | 1.1|d 16/ o5 8.0f  —
RS [k A 50 | 1.1 |if b ¥ b e b b
T (LR X
1 S -1 - —|# 8.0 8.0
2 kLSO 40 | 1.1 — —ﬁm 8. i 8. 0




ST 745 i = X °H
I KET A4 ;IR I AL
e R ks @ A o w4 [P PEEERTIBEITOGES
B FREIL - 2TH |[bR w0 | 11 e
A% I
1 PSRN o 2 A Hh K —1gpi 15 | —
2 _EILISN o HE, 40 | 1.1 18 %MSJFSﬁ
B ik Rl A% 50 | 1.1 |7 bk ¥E b HET b M b
T AR X 40 | L1 —I|H 23t 8. Offi 8.0
FREE®L - 2TH |HEHLEE 40 Llﬁ%@ﬁ%@@%@ﬁ%@
AT AR X g
1 REEIRBE G o B A il O —hl 1gpi 14— —
2 _LELIS oM 40 | 1.1[# wE 23 —| -
FRRAWAE T - 2 T BiiEkRik 40 | L1 [FT R YET BT R Y b T
T A R ik
1 REERE MG o 2 DO —t L 13 - —
2 EFLLSh o MR 40 | L1|F 18 28 - -
I+ R I T i
1 HEE1565H 50 | 1.1 [FT L YT b T b MR L T
2 _ERCEA Ot 40 L1ﬁ¢$ﬁ%ﬁﬁm$mmﬁ
AT LR K 40 | 1.1 —F o2 8.0  —
FREWL1~3TH |[HELEKE 50 | 1.1 [ b M L Y M LY
T LR I
1 BRI P 00 B A K —peE 1usE 15— —
2 RERLS O 40 | L1[F 1gF 25— —
NREM1~3TH (ML 40 | 1.1 |77 BT HL B B Y b
AT (LA Xk
1 ERRER B PN o 2 R il s —Et 1l 14 | —
2 LERLS o 40 | L1 18 23— -
TR iR R (Eez 50 | L1 | bt BT L b M b 2
AT AR I




SF0 TS i = X 3E
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
B FRREIL 1 [EE1565H0 40 | L1|H 28 —fFF 81—
2 ERLIS 0K 40 | L.1|% 26 —Fﬁ 8.1 —
SR LS EiE 156500 B0 | 1.1 [T b HETT b b YT L
ERLIA o Hitag 40 1. 1 | b ST b HET bb e b
FRETEL - 2TH |[ii#bRik 50 | 1.1 [if7 e YT LY Y b
AT AR K ek
1 R4 40 | 1.1 —H 15%t 8.0
2 RELEA o 40 | 1.1 —|4 254 8.0
FFREIL1ITH L IR 50 1.1 Fﬁttﬁrrﬁl:l:fﬁ[ﬁttﬁﬁttzﬁ
TR b A X
1 FREEIRG R o B T —F 148 17 —
2 LECBUt o HbR 40 | L1|F 21F 28§ 8.0l 8.9
JFREIL2 - 3TH |[FEfkXig 5 | 1.1 ﬁbhzﬁﬁttﬁiﬁmiﬁiﬁbﬂf’%
[iReaR ok dme
1 BREERE M 0 B O —f 140 17 - —
2 LRSI 40 | L1[d 21 284 8. off 8.0
3 EE B RS R
1 BFEREHIRN O R A KR —[4E 8.6l 11 — —
2 EERLA O 30 | Loy o941 —
EREA R < RBE R RFEEHRR 30 | L1 o1gd o194l —
EFCLAS 0> iR
1 BEIRBUBIER AN o 22 A DX —t 8. e 11— —
2 ERCEA s 30 | L1 1ifr 19%E 3.5 @ —
ZR1~6TH T EH 7 B B IR
1 ERRER B PN o 2 R il s 7ot 11 —
2 LERLS o 30 | L1|f o117 — -
L FRELA o itk
1 RN o B A O —J#ti 7. (T@ 1 —




ST 745 i = X 1H
AR 4 - IR _ IRRABIEE
S (TR wass @M m oW g [P ACEERTEECEA RS
b ERE1~6TH 2 kRS OHIK 30% 1.1%43 ﬁtf: 1{; i ’
K1 - 2 TH b Xk — | BEAR (T LE T b L T L
TR KR 50 | 1.1 —  —WLoa -
Ll [k (A% 50 | 1.1 |rfi b M bk b M b T
L Xk 40 | L1([P 20/ 328 6.3 —
RS LIk 50 1.1 Fﬁtlﬂ%ﬁtﬁiﬁhﬁ’éﬁtt@
AT LR 40 | 1.1 — 64 —
E¥E1~8TH b Xk 50 1. 1 |77 bh HET b ¥ e e b
AT LA X 40 | 1| 13 2000 5.0t 5.0
FHHR1~5TH |[HaHLER 50 Llﬁ%@ﬁ%@&%ﬁ&%@
T LA X 40 | 1.1 —H 198 6.3 —
A EE 3 B B PN D 2 Y L 3 — 8.8 13 | —
EELIA O 40 | L1|F ME 204l 5. 2 5. 2
HAFE1~6TH B S B HhI PN oD B2 P B X3 —l 7.8 11— —
EFRLIA O it 40 | L1|F 13 178 5.0t 5.0
IR I 40 | L1[F 18 268 8.8 @ —
AR1~3TH b P 40 | 1.1 (eI PR L R PR
AT LT R 5
1 REER AR PN 0 2 K —%85F u - -
2 _ERCEA DR 40 | L1(P 14F 20 — -
AN E3in 40 | 1L1|d 28 211 —| -
a=H ek AEz 40 1. 1 |77 bk HET bh VBT b T L
AL [R5
1 7B B ZEin
(1) BRSO £ —ft 1o 180 | —
(2) LEFEESOHE 40 | L1|P 20 267 7.9% 7.9
2 ERRES O HE
(1) FEFERBUMIEA D 2 K —J#ti mﬁ 16 | -




SF0 TS i = X 5E
AR 4 - IR iy B AL Bl A
S (TR wass @M m oW g [P ACEERTEECEA RS
VY e (2) kUSRS 40% 1.1=EP 2?)43 2@@ 6.%’@ 63 i
HIE1~5TH b Xk 40 | 1.1 |77 LT b T e b
AT {L A X
1 EREiR B s Py o 2 R il KO —Ft 1o 160 | —
2 EECLIA oD 40 | L1(P 18F 26 @ — —
=] LIk 50 1. 1 |7 ELHET ¥ e AT L ¥
AT LR 50 | 1.1 — 21 9.9 —
A1 ~3TH b Xk 50 1. 1 |77 bh HET b ¥ e e b
AT LA X 50 | 1.1 —HF 208t 9.9  —
HEM1~3TH |[aHLESR 40 | 1.1 Fﬁthi’érn?ttﬁ_[ﬁbt%%mt@
TR AR X g
1 REERE N o 2 A O —t 1 18 | —
2 LELU OISR 40 | L1|F 18r: 25 7.6F 7.6
BB 1~3TH  |[RERREHIE o R X —l 12 15— —
EFRLIA O it 40 | L1|F 18 25F 7.6 7.6
HEAKL - 2TH  |[HHE LXK 50 | 1.2 [f7 e b T b T L A
T LT X 50 | 1.1 —[F 22 7.6/ 7.6
HHIE3 - 4TH (ke |1 50 OO i = i = =
A LR PR 50 | 1.1 —[ 22 7.6 7.6
HEHE1~3TH  |[H#HLRE® 50 | 1.1 [vhbb M b e M b
AT LR Kk
1 o - —[f 15+ 7.6 7.6
2 ERCEA s 50 | 1.1|% 18dr 254 7.6 7.6
HERLI~3TH  [HE LR B0 | 1.1 [T bl HETT LY b YT L T
T LR Xk
1 RO o B A il X —Hl 12 15— —
2 LFELh o g 50 | L1|f 18 254 7.6 —
HHM1~4TH AT b XIS — | B | 3 b M b

|‘rﬁtl:@




ST 745 i = X 6
I KET A4 ;IR I AL
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
W A1 ~4TH AT LR
1 BEEREUIEL P o B A X — 1T 19 | —
2 LERLIA o i 50 | L1|f ogf 33 | —
Pyl M ST E I R ARA
1 RS M Py o B A X —H 9. TR 13 | —
2 EELISh o HiE 30 | L1 19 201 4.0 4.0
_EFEEAS o HitkaR
1 BEETREL g PN o B A — oo 13 | —
2 LRELU o i 30 | L1|HF 194 2080 3. 760 3.7
EFR1~T7TH “E B I B (R
1 FREEIRG R o B T —Rto7.eE 11 | —
2 _EFLSh oM 30 | L1|F 1fF 18F 4.0F 4.0
ERELASN 0 HiU
1 IR MR o B2 T i Ik —d 7o 11— —
2 LRELIA o Mt 30 L1|% 9.8 17 4. 06 4.0
| FI o S B A PN D J —ft 9. 50 15 -  —
RFERLLA o> Hitkek 40 | L1 2yt 298 5. 1 5.1
| RS EE807 40 | 1.1 — 26/ 11 —
Ki1~4TH L R 50 | 1.1 (A7 ECHET H R L T L YR
T LR I
1 BEEREURIE P o B A HE K —oti 15E 18—  —
2 RERLS O 40 | L.1[|¥ 23r: 30F@ 11rm 11
KAME1~7TH |fifEbXE 50 | L. 1 |F7ECHERT HHER b e b T
T LR Ik 40 | 11 — Lo —
KM E 1~ 4T Bleis 50 | 1.1 |7 by e b v b v
KiistE1~8TH |difbXi 50 | 1.1 |7 LY H AT e R e T
AT AR X 40 | L1k 23—~ —
KA P AT 50 | 1.1 ﬁth@"rﬁtb@ﬁtﬁﬁéﬁtti’é




ST 745 i = X 7H
AR 4 - IR _ ﬂ&%itﬁ{%ﬁ%ﬂh
S (TR wass @M m oW g [P ACEERTEECEA RS
| A e A LIS ik 40% 1.1% - irﬁ 1? ’
KiAgkil1 - 2 TH [fi#HbRI% 50 | 1.1 [T bk HEHT 3T b i b
TR KR 40 | 1.1 — 22l 8.0f  —
KIMFLEER - 1 ~ 6 T2 50 | 1.1 |rfi b M bk b M b T
=i
® Esen 30 | 1.1 — 1efl 3.9 —
#®1-2TH % S LI PN o 3 A 0 el og.EpE 11 | —
_ERCEASN 0> itk 30 | L1|h 12ff 16 3.9 3.9
P L IR — | B ‘rﬁttﬁrrﬁtlzfﬁ[ﬁttﬁﬁtt@
A LT X 40 | L1[# 21 20 |  —
0y B b E IRk — | BEHR (TR HERT L BT b e T
AT LA R - —F 17 - -
)= ik S B A P D f2 B XS —t g0 120~ —
_ERLEASR D i 40 | L.1(|F 15 21 6.9 —
Fe P IR FE IR BLHIIR N D J= M X3 —%l 8. 5% 10| — —
bFELAA O i 40 | L1|F j: 20 - -
FEEG| R SR B N D J T M X I —#l 8. 5 10| — —
EFERIA D HirE 40 | 11| 14E: 20 —| -
MR ok SR B HO 58 P 0D R S X —fit 8. 5Fﬁ o - -
ERCLLSR oD Hirksg 40 | L1(P 14F 20 — -
pUILLS AT L R 40 | 1.1 | b HERT H BT B BT B T
LIRS P 40 | 11| 23 23F@; 11rm 11
nEF1~7TH M B X 40 | 1.1 [ff7 YT L YT b T
AT (L X Ik 40 | 1L [d 23 23fh il 1]
EIRR [k A 50 | 1.1 ﬂﬁttzﬁfﬁtt@r;?ttiﬁfﬁttf%
T (LR X
1 BRI PN o B M K el 1ypn 15 | —
2 kLSO 40 | L1|F 17 25 8.6




ST 745 i = X 8
tﬁﬁzm\m IR I RPBIRE
SR ks w0 W e w4 [P PERERTIEEETA RS
7y AL (ikcakAE: —% %%ﬁ%Fﬁttf;Fﬁttf;FﬁttéﬂittZél ’

A LA X I 50 | 1.1 —[H 22(@ 9.1 —

B kel — | BRAR (T T LY L T L

LS 50 | L1|do o8 33 | —

BB SFf o SR LI PR oD f P B XU —Ft oo A 13 | —
EELIA 0 i 40 | L1|d g 20 | —
Higm A % S LI PN o 3 A 0 o g.epti 13— —
EFRLIA o Hitkek 40 | L1(P 16 20 — —
ERRAFR o R BRLHIER PN oD o P L 3 —btoo.gpi 13 | —

EELIA O Hi 40 | L1|d e 20 | —

bl P < 2 ST ELH IR PN oD 2 P K3 —Htoo.ef 13 | —

LRRLAS oo i 40 .19 18%F 20 — —

Evag IR 40 | L1|F L17fF 23 5. O 5.0
W1 ~9TH  |REEREHEA ORI X — 1oM 13—  —
LRELLA D s 40 L1|F 17F 23 - -
bt A b I — | B (T L YT b YT L T b
T LA X
1 BTGB R RERRRR 50 | L1 28 46 @~ —
2 LRELstoR
(1) FEEiR Py o B T B i —fid 148 20 00— —
(2) RSSO Hu 50 | 1| 21 3560 5. 3% 5.3
JIF1~6TH ek AEz — | B Fﬁt@%l"ﬁtﬂ’%l"ﬁtb@ﬁtti@

LR R 50 | L1|f 2z2f 277 —| -
| mE1~3TH Pt 3 A BRI b 38l ) oD [ e Kk —f 1RE 15 — —

RERLIA O I 40 | L1 AT 25 | —

A< [ERca A — | BEAR (7 L YT BT L T LY

AT AR K ek

1 EEHOTERREILBIR 40 | L1|f 2o 22 | —




ST 745 i = X I
I KET A4 ;IR I AL
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
&| A 2 RERLSOHI 40 | L1(d 2o 22— 1
AH1~5TH T b Kk — | BE#R (7T Eb BT PR b T b T
AT {L A X
1 IR o 5 A X — 11l 16 — —
2 EECLIA oD 40 | L1 2 28 — —
B < LA Hh - 1§ | 6.6
_EFEEAS o HitkaR
1 BEETREL g PN o B A —# oo 13 | —
2 LRELU o i 40 | L 1| 178 20§ 5. 0 5.0
F—fm1~10TH [ffhEES — | B Fﬁtti’érﬂ?tt@[ﬁbtiﬁiﬁtt@
T LA X 50 | L.1|% 30 33%i 9.1 9.1
AeAti st 40 | LL|F 23k 23 | —
Bl 57 ik S B A P D f2 B XS —t o9 11l - —
_ERLEASR D i 40 | L1fF o1 o1 - —
EldisEls IR FE IR BLHIIR N D J= M X3 —fit 9.9t 11 — —
ERELAS O SR 40 | L1ff o o18F 17 - —
JLEFrE B TR LI PN oD 2 T X —l 8. e 100 —| —
EFERIA D HirE 40 | 11| 14[: 20 —| -
Elat il it AR BRI PN oD 52 A 4 X3 —pif 9.5/l 11 — —
ERCLLSR oD Hirksg 40 | L1|% 15 21 - -
JeF 5 ot SR BB P D 2 P M D —F s g 10| — —
FRLASR o iR 40 | L.1[|¥ 14r: 20 —| -
ALEFrg PR A5 B b gl Y oD JE FH e Xk —#t 8. i 10| — —
LIS o i 40 | 11| 14[: 20 —| -
ki1 ~3TE AL i 50 | 1.1 |7 by e b v b v
T (LR X
1 EiE1l56HHy
(1) BEEREHIEEN 0 B2 F 1 b —fll 23r’@ 16— -




1.

1

ST 745 ® * 108
j;rmzmm IR I RIARBIEE
SR ks w0 W e w4 [P PERERTIEEETA RS
| i1 ~3TH (2) kLA OHIR Mﬁ Lf¢ £$ ﬁmsﬁ : i

2 RS OHUR

(1) FEERE R o 2 F i K I {23 18— —

(2) EFEELASOHuE 40 | L1|¥ ME 279 8.0 —
1 - 8TH o SR LI PR oD f P B XU —Ft 1o 19 | —

EELIA 0 i 50 | L1|P 3o 33 | —
| ‘&1 TH Fo S B PR oD F R L X —M g 19 | —

EFRLIA o Hitkek 50 | L1|% 3of 33 @ — —

EEF L IR — | BEMR (v R B YE T e T b T

AT LA X

1 XHE 40 | L1 23F 26 — —

2 LRELSt oo

(1) FEZERBHERA o 2 Hi K — it HF 16 - -

(2) RS OHR 40 | L1|#F 23 26 —| -
EHE1I~4TH |[fEMLRE — | AR (T LT LL Y L T L

T LA P 40 | L1fdo2id 27— -
Z| [iiRcx a4 — | BB | b AT e e e

A LA K ik

1 5 — —f 14 - -

2 _ERCEA DR 50 | 1.1 - 29 - -

FiE1~6TH b R ik — | BRAR (T LL T b M YT L T
A KRR b

1 BB o B2 A X I —fd 120 16— —

2 S - 13 - —

3 FELS o 50 | L1|P oo 21 | —

NERL~3TRH | — | BEAR (7 L YT BT L T LY
AT AR K ek

1 FoEERHBEFRLN 40 L1|f 17 27 - -




ST 745 i = X 11E
I KET A4 ;IR I AL
e R ks @ A o w4 [P PEEERTIBEITOGES
Z| hEE1~3TH 2 BRI OHIR 40% 1.1%43 1%3 2{'%7 i ’
BEH1~4TH T b Kk — | BE#R (7T Eb BT PR b T b T
TR KR 50 | 1.1 —  —WLoa -
/NEF1~6TH [k (A% — | BEHR [T LT YT b T b B
A% Xk
1 REEEIRBEHIEN 0D 5 H b —L 13pE 15 — -
2 REOLISh o HiE 40 | 1L1|h e 211 | —
s ML
1 SRR — | B (i LT PR L YR PR TR
2 LSO K 50 | 1.1 [T BT b YT b M L
T LA X 40 | L1[d 20d 27 5.0 @ —
W21 ~6TH [iEREaR A — | B ﬁ?tti’éﬁttﬁiﬁw%ﬁ?bh?ﬁ
AT AR X
1 IR MR o B2 T i Ik —d 13 15— —
2 RSO MR 40 | L1|F 200 26 —| —
TE e AR (A R 50 | 1.1 - - - -
T LT X 40 | L1 - -89 -
| Bl (ke |1
1 %m#iﬂ%ifﬂﬁﬁﬁf@i‘%ﬁ@ﬁfmﬁ @) | R fER fES R
2 LERLUh o i — | B (T LT B L T LT
T AR X g
1 AR IR 0D 2 il P — LTeE 19 — -
2 bELIS MR 50 | L1|f 28F 33 - —
a2 EE MG E AR
1 BREERE M 0 B O —|#t 8.0f 10 — -
2 LRELSt O 30 | L1 Ll 15§M 4. o 4. 0
RFRLAA D His
1 EEREHIRAN O B K —pill 8. Ol 100  — -




ST 745 i = X 128
I KET A4 ;IR I AL
S (TR wass @M m oW g [P ACEERTEECEA RS
x| 5 2 kRS OHIK mﬁ Lf¢ ﬁ$ £ﬁ4€%4€ ’
% 1TH o2 4 M I PR 0D 2 P 3 DX —#t 8. ofl 9.8 —|  —
RIS o s 30 | L1 11dr 15§ 4. Ol 4.0
U| 7S AT £ 50 | 1.1 |7 aET e b v b A
HE1~3TH i Kk — | B&#R (i P T PR YR P T
AR KR 50 | L1|h 29 25 | —
THEE1L - 2TH  |HEHEXE — | R (TR ST b T L T b 2
AT AR X g
1 REEIRBE G o B A il O —hl 10 16 —| —
2 _LELIS oM 40 | 1.1[# ME 21 —| -
TEMHLI~5TH |[HEERR — | B [T L T e Y e
T A R ik
1 REERE MG o 2 DO —t L 18— —
2 EFLLSh o MR 40 | LR o2y 2~ —
THRE T i — | B (AL HERT HL e H e HL T
A LR PR 50 | 1.1 —H 13 —|H 6.6
TtHE F T E I R BRI
1 REEREMIR P 0D B A R — oo 28 0 —| —
2 EERLA O 50 | L1|F 31f 43  — -
LFREAS oD Hirtsk
1 BRI P 00 B A K —psE 15E 19— —
2 RERLS O 50 | L1|F 22 33 0 | —
FrE1~3TH b gk — | BRHR (7T Eb BT EL R b Y b T
AT (LA Xk
1 EEH G E R BRI
(1) BEERBHIEN O B M X — oo 28 0~  —
(2) EELS o 50 | L1ff 31 43 |
2 ERLS O




ST 745 i = X 138
I KET A4 ;IR I AL
e R ks @ A o w4 [P PEEERTIBEITOGES
U FHE1~3TH (1) BFHmBHIEN O & R 1 KR ’ jﬁfu 1{;&‘@‘@ 13 : -’ ’ iy
(2) EfELSoHuR 50 | L1|H 22 33 | -
T RAE gt 40 | 1.1 —| i 9. 1l 9.1
T BRI [k (A% — E%%ﬁmﬁﬁm@ﬁw@ﬁw@
L Xk 5 | 1.1 —f 228 9.6 —
WHHL1~65TH  |[HEHEREE 40 | 1.1 ﬁ?ttiﬁrrﬁthfé[ﬁhti’éﬁtti’é
AT LR 40 | 1.1 — 8o —
| HHE R B BB ARG
1 REEIRBE I PN oD [ — 1280 16  — -
2 LSO K 40 | L1|d 20f 271 | —
RERLAA 0D Hitg
1 AR IR 0D 2 il P — 120 16 — -
2 LELU OISR 40 | L1|F o 20fF 27 - -
BHE1~8TH |EEHGFEERESFERE
1 BREERE M 0 B O —f 1286 16 - -
2 bRELSt o 40 | L1ffozof 27 - —
RFRLAA D Hitks
1 BFEREHIRN O R A KR —pi 12 160 — —
2 EERLA O 40 | L1[F 20 27 —| -
7| K41 ~3TH = SR B P oD = T M X A — 11 1 - —
FRLAAR 0D ik 40 | 11| zj: 21 - -
KEW 1 - 2TH  |[RERERFRHEANORAMXIE — g o1 - —
ERCEASS D 40 | L1|H ez 27 — -
mHE1TH ot 4R B LI P o0 fi P L K —WE 19t 19 — -
LIS o s 50 | L1|f 3o 33 | —
= B =i 40 | L1|P 16 26  —l 9.0
AEBAL L Kk 40 1.1 Fﬁtt@mtb@ﬁbbﬁﬁbh@
AT LR K 40 | 1.1 14|; 21?@ 6. 8fili 6. §




ST 745 i = X 14E
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
| KA e S R O B R - 8.%@ I
RERLIA o Hitke 40 | L1|% 14 zTﬂ 6. fT@ 6.8
FERFLALAS A Kk 40 | L1 [T B HET ELHE B Y e T
AT LR X
1 RS M Py o B A X —#t 8.5 11 | —
2 LFELIA o i 40 | L1|d w4 21 | —
RER T BB [eEeiR (s 40 | 1.1 (T BT bh 3T b T b 2
AT AR X g
1 REEIRBE G o B A il O —t 8GR 11— —
2 LSO K 40 | L1 |H 14[: 21 —| -
KERALERRA b X 40 | 1.1 [T b T EL YR B Y e T
A AR K
1 JREEHR A PN 0 2 A DO et smp 11— —
2 hREELLS o> Mgk 40 | L1|F 14r:: 21 - -
KERILAE 2 B T i 40 | 1.1 | Eb HET B YE e M L EE
T LA X b
1 BRI PN 00 B T HA K I —fll 8.5t 11— —
2 _LERLASh o i 40 | 1.1|F 14E: 21 — —
KB H ke kIR 40 | 1.1 (T LT LT e T b
[EEeglatidee s
1 BEEREURIE P o B A HE K —ot 8.5 11— —
2 RERLS O 40 | 11| 14r: 21 6.8 —
RERFLEFH ety 40 | L1[P 14F 211 - -
AERALMA B ot 4R B LI P o0 fi P L K —|t 8. 50 11 — —
LIS o s 40 | 1L1|f 14[: 21 —| -
| o SR B g PN oD f P A XU —Hl 13 200~  —
EEELIA o il 40 | 1.1|d 25f 31 5. ol 5.2
| HEH Fo SR B PR oD o P L X — | 10f@ u - -




ST 745 i = X 165
AR 4 - IR I RPBIRE
S (TR wass @M m oW g [P ACEERTEECEA RS
T| tHEE EEELIA o> iU 30% 1.1%43 1%3 1{%@ 5.{;@ 5f7 i
SFH Lo o e L U I
LELIA 0 HE 40 | 1.1 —l 29 | —
FH1~7TH et R BT PN 0D ot P i Xk —At 1 o1 | —
EERLIA o Hitkek 40 | L1[P 21 27 — —
& Al i S 1 B BB A 0D f P 1 Xk —f#h 11 16 - —
LIS O Hi 30 | L1 14[: 2240 3. 9l 3.9
72 [ERCi — | R (TR b b T LT
T LA X ek
1 R R sk PN 0D SR X Js — it 13r~m 15 - -
2 hEEA o i 40 | L1 23F 26 — —
11 - 2TH [iEREaR A — | R [ T Bl b T L
A LA Ik
1 BREEHRE M PN oD B2 T i —d 13 15— —
2 LEELUSh O iR 40 | L1 23 26 0~ —
BIR1~5TH  |[heEfLx — | B (T L YT b YT L T b
T LA X
1 B4 - —|+ 17 = —
2 REERSLHE PN 0 5 K o T . | I
3 _LERCEA DR 40 | 1.1 - 33 - -
P AR b R ik — | BRAR (T LL T b M YT L T
T LR P 40 | 11| 2gff 23F@; 500 —
ML ~7TH  |[hEHERIE — | BEAR (TTLL T L L T L
AT (LA Xk
1 EREERSHIEN O 2 X — 108t 13 - -
2 LERLS o 40 | L1[P 17F 23— -
R#FEF ke (s — | R (TR L b S LY
AT LR K 50 | 1.1 — 30?@ 9.1 —




ST 745 i = X 165
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
7o RERARRT L - 2T B |HE bR —% %ﬁ%Fﬁtth;Fﬁttf;Fﬁttgﬁitbﬁél ’
AL % X Ik 50 | 1.1 - —Fﬁ 9.1 —
R A X 40 | L1 |77 T b v b
LS 40 | L1|P o u4F o1 | —
TR [kl 40 | 1.1 |77 T e P L v b
AR KR 40 | L1l 4o | —
kR [eEeiR (s — | R (TR ST b T L T b 2
AT AR X g
1 @5 - —F
2 LSO K 40 | L1420k 33
R REER [EECIR A — | B [T AT L L 1
A AR K
1 S5 - —IF
2 RECEAh oot 40 | 1.1 —F
EREBR A S —
o S B A PN D J —t 19 190 - —
RFERLLA o> Hitkek 40 | L1 29 33 128 12
RENH Lo — [ 27EL 16HE 15
ERRLIS O HhR 40 | 1.1 32f 333k 15E 15
| BEEKR gciy 30 | 1.1 —| 20[@ 3.6 -
FEIR1 - 2TH ot SR BB P D 2 P M D —E 9. 1 12 — -
RERLLA o HitkE 30 | 1.1|h 1g# ZOF@ 3. ET«»E 3.6
EREL~5TH  |fiEHbRik — | BEAR (TTLL T L L T L
A L K sk 50 | LL[FL 1280 16 —| —
D Br—E1~8TH i I — | B#& ﬁttﬁEtb@ﬁﬁtiﬁfﬁttf@
M RS K 50 | L1|F 30 328 9.1 —
Al [isEex (A — | R (TR L b S LY
AT LR K e i - I




ST 745 i = X 178
AR 4 - IR iy B AL Bl A
S (TR wass @M m oW g [P ACEERTEECEA RS
D HIRR1~4TH b X —% %%ﬁgl‘ﬁttfgfﬁtti”gl‘ﬁbtéﬁittfg ’
A L Xk e s R T I
RijA2 Rk 40 | 1.1|F 1gd 2200 3.6l 3.6
Hlfx1~5TH i R BB PN 0D J ) i X — 0. 11 — —
_EECLAS 0> itk 40 | L1[F 15 208 3. T@q 3.6
i Fir AL LIk 40 1.1 Fﬁtti’érrﬁtlzf%[ﬁhti’éﬁttfé
AT LA DI
1 REEREUMI P o B R X —Ft 8.5 11 | —
2 LR oM 40 | L1|d w4 21 | —
A TR ki 40 | L1 [T YERT YT b Y b T
O HRARE 2 ST ELH IR PN oD 2 P K3 —H 12 16 | —
LRRLAS oo i 40 114 23F 24 — —
R [EEEIE (A% — | B (T LT b Y e T P
[iReaR ok dme
1 REIRE RN O 2 A O — 1 17 - —
2 bRELSt o 40 | L1|F 23r: 28— -
EH B BB IR
1 BFEREHIRN O R A KR —ft 9.7Fﬁ 11 — —
2 _kERLIA o Hi 30 | 1L1|F 138 177 5.2H 5.2
LFRLIS D s
1 BEEREURIE P o B A HE K — 0. TE 11— —
2 kELMS ot 30 | 1.1|# 13r: 17} 5. 20 5.2
B L BB Z B RERID
1 EEEERE ARG P 0 B —Fn 1gpE 18 | —
2 ELS o 30 | L1|P 18F 23 | —
_ERELA o> it
1 BRI PN o B M K —fel 13pn 15 | —
2 kLSO 30 | L1|h 18h 23 | —




ST 745 i = X 185
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
o EHIIL 2 S 4 MBI P 0D £ D o DX ’ jﬁm 9.?&’@ 1? : -’ ’
RERLIA o Hitke 30 | L1k oo o1 — —
ER)IHE VB2 R R AR
1 EREiR B s Py o 2 R il KO —oo.TE 11l | —
2 FEREAAh o Mgk 30 | L1|ho1bo17 - —
LFRELA o> it
1 R N o B A Hh I LI O S
2 RELEA o 30 | L1|h o o12fo17 - —
— AT B 50 | 1.1 — 22 | -
—H#H1~4TH |&% 50 | L1 ot 21 | —
i) ke 30 | L1|H 11 L7 3.9 3.9
#ME1~3TH 3 B B PN D 2 Y L 3 —foeTpn 11 | —
EFELAA O 30 | L1|F 12 16 3. 9%f 3.9
A & [iREaR A% — | B ﬂ?ttiﬁrrﬁtti‘%i%tﬁ[ﬁttﬁ
AT LR Kk 40 1.1 —|F 32%F 9. 1F 9.1
HElb1~77T8H b ik — | BEMR (7T Lk M LY b M H e
T LT X 50 | L1|F 2if 23d 9.1 —
HEFFA1~4 T8 (ke |1 — | B (7L HET HL e P e EL T
T LR DX I 50 | 1.1 —f 23 9.1 —
AEFHR1~8TH |[HabRE — | BoBR vl Lt T L e e L e
AT LR Kk
1 [EE1 56800 50 | 1.1 —[r 23% 20/ 20
2 ERCEA s 50 | 1.1 = 23F 9.9 9.9
A% 1~9TH |[HELEE — | BRAR (T I LR I L T L
T LR Xk
1 [E#E156Fimn 50 | L1 - o2 -
2 LFELh o g 50 | 1.1 —|  —Hre.d —
5 R - 2TH Fo SR B PR oD o P L X — | 11f@ M - -




ST 745 i = X 198
AR 4 - IR iy B AL Bl A
S (TR wass @M m oW g [P ACEERTEECEA RS
S IR 1 - 2 TH EEELIA o> iU Mﬁ Lf¢ £$ ; B ’
wE b Xk 40 | 1.1 |77 LT b T e b
AT X Ik 40 | 1L1|F 20 2100 6. 8l 6.8
B e [k (A% 40 | 1.1 Hﬁth@fﬁtb@?ﬁtb@ﬁtb@
[iRcaglor | dEe
1 FREERBE N o B A Hh O —hl 8.5p 11 —| —
2 kLo 40 | L1 14[:1 21 —| -
R T [ERCi 40 | 1.1 |77 T b T L 2T b
T LA X ek
1 REEIRS kN o B2 A X I —t 8Bt 11— —
2 hEEA o i 40 | L1|# 14Ej 21 — —
RSN ) [iEREaR A 40 | 1.1 [T B HET BRI L Y L Y
A LA Ik
1 IR MR o B2 T i Ik —d 8.5 11— —
2 LRELIA o Mt 40 L1 4¥F 21 - -
wmEHA b ik 40 1. 1 (7T b 28T b SET  2ET e
T LA X
1 BFEREHIRN O R A KR —[t 8. 5l 11 — —
2 LS OHIR 40 | 11| 14F: 21 - -
BEkH R SR B P oD 2 P M X3 —h 8. 5l 11— —
ERCEASR D i 40 | 1.1|F j: 2100 6.8 —
iyl R R BT P 0D B I — i 8.5rﬁ ul - -
ERCEASS D 40 | L1|P 14 21 - -
Bt [ikcak (7o — | BRAR (T I LR I L T L
T LR Xk
1 &5 - 14 - -
2 LFELh o g 40 | L1|d 21 271 | —
TEE s b Eeei 40 | L1 21Uk 28 0 | —




ST 745 i = X 208
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
5 TSR Ecei 40% 1.1%43 2?43 ZE i ’
it I 40 | L1[P 21 26 | -
LhHeEE e 40 | L1|d 21 28 | —
HHE TR Ecein 40 | L1|% 20 26 @ — -
i % SR ET H Ege 40 | L1[d 21 28 | —
E A1 - 2T H ke[ — | R (TR L b T LY
AT LA DI
1 FRETRBUME o B A Hi X —H 19 19 | —
2 LRELU o i 50 | L1|# 30 33 —| —
i e A% — | B (T LT LY L T b
TR AR X g
1 REERE N o 2 A O —t 1 1 | —
2 LELU OISR 40 | L1|F 24r: 270 5. O 5. 0
E Ai—m1~3TH  |[E{LRE — | B ﬂﬁttﬁﬁttﬁﬂtbﬁ[ﬁbh"@
T L X
1 REEHREAEL N O 2 A RO e 190 - —
2 _ERCEA Ot 50 | 11| 26 33@E 9.l —
B — @R = SR BLHIT PN oD J= M XA —p 1TRE 190 — —
LFELIS O HiH 50 | L.1|% 28 33— —
EA [iRCx s 1 — | BoBR vl Lt T L e e L e
AT LR Kk
1 EEHOFERBEIRRG
(1) BEHET A o B F B KI5 —fidi 25 34— —
(2) LSt oHg 50 | 1.1| 3gd 54 — -
2 bﬁ?ﬂé‘f%( FEH A BRI | 50 L1439 54 - -
3 LA iR
(1) #HH 50 | 1.1 —H 27— 1
(2) BEIRBHIRPN o = Hi R —l 15 18 0 -  —




ST 745 i = X 21 E
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
E| EA (3) EfELUtoHUK 50% 1.1%43 2§EP 3? i ’
N LS - 14 70
LIS o Hitd; 40 | L1|d o4t 27 | —
XIS EzeEn 50 | L1|fo2g 27 | —
MILER Ege 50 | L1 22 27 | —
R LT I 50 | L1|d o2of o211 | —
A OAKHEE1~5TH  [HALRKE — | R (TR ST b T L T b 2
AT AR X g
1 IR P o B K3 el o1mpn 19 | —
2 LSO K 50 | L1|H 25 39 | —
#n MBI B SR IRAR I 40 | L1 14 20/ 7.8% 7.8
B4t 40 | 1.1 —F 16§ 6. 8%l 6.8
ERELASN 0 HiU 40 | L1|F 14ff 2084 6. 9 6.9
=l L P 40 | 1.1 [T YETHLTE tti’é[ﬁtt“&
T L X
1 REEHRBAI N O 2 A —hti 8. 5r@ u - -
2 _ERCEA Ot 40 | L1|P 14 21 - -
HOT (ke |1 40 | 1.1 | b HET B HET B e EL
A LA KR
1 SRR o 2 Tl X —Wel 8o 11— —
2 FECLISh o 40 | 11| j: | I
WHET £ R LIS D 12 P M DI —Jhti 8. 5rﬁ . - -
ERCEASS D 40 | L1|P 14 21 - -
o It (AESE 40 | 1.1 [ e AT PR LT B
T LR Xk
1 RS o = A KO —#fl 8. 5@l 11 — —
2 LFELh o g 40 | L1|d 14 21 | —
i % SR BT PN oD S A I —ft 8. 5F@ u - -




ST 745 i = X 20 E
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
PARCISLTT EEBIS O PP TR T " N R L
BN b Xk 40 | 1.1 |77 LT b T e b
AT {L A X
1 EREiR B s Py o 2 R il KO —t 8.5 11— —
2 EECLIA oD 40 | L.1|# ME 21 — —
= HiA LIk 50 L. 1 (77 b YT b Y b e L v
AT LR 40 | 1.1 — o198 9.9 —
ZHEER1~5TH |t 50 Llﬁ%@ﬁ%@&%@ﬁ%@
AT LA X 40 | 1.1 — 9.9 -
P At ks 40 | L1 2dd 24 - —
=i S 40 | 1.1 —H 14 5. 7l 5. 7
AN 40 | L1|F 16 17§ 6. 2l 6.2
EELIA O 40 | L1|F 14 2086 5. 8t 5.8
SHmEV AL TS (Rl 40 | 1.1 - —fisg -
—ERE IR FE IR BLHIIR N D J= M X3 —f# 8.5 10 - -
bFELAA O i 40 | L1|F ME 20/ 6. 9l 6. 9
= HRE AT B TR LI PN oD 2 T X —t 8. e 100 —| —
EFERIA D HirE 40 | 11| ME 20 —| -
Fe AN L ~3TH | EEMZE)E WA, EEHGEE (40 | L1 21F 23F 8. 7% 8.7
BERERV
S Lt ok PN 0 P2 T LI o1 14 | —
ERLLASR D i 40 | L1|% 2y 23 8.7 8.7
Fi S B b sk PN D R P L R 1 —fl 9. 4pi 150 | —
EERLIA o HiE 30 | L1[F ME 23§l 3. 5 3. 5
il - 2 - 4TH |[REEERFHEN O R H#XE —l 7.8 11— —
EFRLIA O it 30 | L1 1F 170 3. 5% 3.5
B[ b Ok 40 1. 1 |7 b 8T b ¥ e e b T
T LA X
1 A 40 | 11| g8 14 —|f 7.0




ST 745 i = X 23E
AR 4 - IR iy B AL Bl A
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
b| S 2 ERELSA ORI
(1) FE3EmRBUMIR P o 2 T Hi I —fi 8. T@ o - -
(2) LS oHg 40 | L1|% 14 20 -
7 [k (A% 40 | L1 | b b Y b e b
[iRcaglor | dEe
1 FREERBE N o B A Hh O —hl 8. 5B 11 -
2 kLo 40 | L1 14[: 21 —
TR R (AE%: 40 | 1.1 [T S G IR L Y b
AT LA X 40 | LL[d 14 21 -
R BA ESsEn 10 | 1.1 - - —
iR 2 ST ELH IR PN oD 2 P K3 —1#t 9. 5t 10 -
EFELIA 0 40 | L1|F 16 2080 4. 9l 4.9
L1 R e ik S B A P D f2 B XS —Jiti 8. T@ 0 - -
RFRLLA o> Hitkek 40 | L.1(% 14 208 7.9 —
iy av=yii) IR FE IR BLHIIR N D J= M X3 —#L 9. 588 10| — —
ERELAS 0 Hit 40 | L1|F 18 21  —P 7.5
H IR B B TR LI PN oD 2 T X —|fii 8. T@ o - -
LR o R 40 | L1[f 14 20 — —
M=y ok SR B HO 58 P 0D R S X —fit 8. 5Fﬁ o - -
ERCLLSR oD Hirksg 40 | L1|4 14 20[@ 7.5 —
IRCE B b R ik 40 | L1 |7 BT b M L YT L T
A KRR b
1 BB o B2 A X I —fidi 8. T@ 11 — —
2 LELS o R 40 | L1|f 14 21 —
M-l 2 R AR BT PN o S 0 —fR 12t 12 -
_EEELIAN 0> itk 40 | L 1|9 19 19%f 5. 7l 5. 7
|tttk L Kk 40 1.1 Fﬁblﬂ’éﬁtbﬁﬁ%ﬂéﬁbh@
T LR X I 40 | 1.1 —|F 22 -




ST 745 i = X 2UE
AR 4 - IR iy B AL Bl A
S (TR wass @M m oW g [P ACEERTEECEA RS
| AR b X 40% l.lgFﬁttngﬁtti”gFﬁbtéﬂittfgl ’
A L Xk
1 EEEIRS M o 2 Hh K —l 8. 5P 11—  —
2 FELS o 40 | L1|f 14[: 21 —| -
MR TE o SR LI PR oD f P B XU —Ft 8o 11 | —
EELIA 0 i 40 | L1|d w4 21 | —
TR ESsEn 40 | L1 [T b I bh 2T b M b
AR [EEcaRIAESET 40 | 1.1 ﬁtl:iél;tﬁ%ﬁ?htfﬁﬁtti’%
T LA X ek
1 REEIRS kN o B2 A X I —t 8Bt 11— —
2 hEEA o i 40 | L1|# 14Ej 21 — —
LREist T Rk
1 M — | B (T LT b Y e T P
2 _ERLEA iR 5 | L1 ﬂ?tl:hfﬂ&l:tt"‘fégttﬁﬁﬁtt’&
T L X
1 SEAh 40 | 1.1 —H o | -
2 _ERCEA Ot 50 | 1.1 - —# 8.0 —




